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Note :

(1) Answers of all questions are to be given in the Answer-Book given to you.

(2) 15 minutes time has been allotted to read this Question Paper. The Question Paper will be
distributed at 2 : 15 p.m. From 2 : 15 p.m. to 2 : 30 p.m., the students will read the Question

Paper only and will not write any answer on the Answer-Book during this period.

I.  Ye J% Adl yHa' @ §39 fag - 1x10=10

1. Y-y ¥3F &t g § o fagm 7T I2

(A) gHT (B) BugmT (C) faft (D) HIT<I!
2. JrIndt =T § ot faar Ater 7

(A) MJIEEH (B) udt (C) far=3t (D) HE3"
3. I3 fefimrt 129 samua faggr 372

(A) & (B) fa<t (C) frgrat (D) fagt
4. ot feft &t =gseT <t 393t fag fadt 92

(A) Hefefamag  (B) widfad (C) AHTI (D) fefamiaa
5. 'HHSS HWY< & AHGIE We< BE At fedsy 9 -

(A) Tat (B) d¥ (C) ¥ (D) fsaTEr

6. U HE< ¥ AJT feddt wEw 9E -
(A) yddr (B) Hayg3 (C) wHgst (D) 9T

7. '3YT "< ¥ Al fe3Ut HEw 98 -
(A) H (B) I (C) 3t (D) @&

8. ‘Har wee ¥ A gIw9Ed Wue I At feasy 9& -
(A) WIS (B) Ugdt® (C) wIH (D)
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I1.

III.

9. '¥3 W¥< < AJl gUmdEd HEe SEt feasy 9 -
(A) =ITHT (B) ydT () =<t (D) fi3

10. ‘HT foz famem J fa SHs It af AT | =va <t famn = At feasy 9 -
)

(A) FAWI3 TR (B) fima3s == (C) WIS T (D) JIATBET T
yg Je At yHat ¥ §39 fod - 1x8=8
1. 9 &ad °= 1t iyt gt &9 a9 fag Hies = 433 J9< 87

(A) dJ[forSt Hies (B) foHT3™ Ffgmr

(C) Farst gfagnrr (D) FIHIST
2. ‘WE v oAt fu I3y IS-H3I 99 IF a6d O A & ot Guew 93T 97

(A) TGH fImmare @ (B) ToHas™ fammre =

(C) d[far3 fawmre =r ) BESEIRESIEY

3. J9 &ad €< A & TR-F39T »gHI IGH I W3 A< I7?
(A) T (B) Wg (©) »afes (D) BB HEY

4. JJ &5d T2 A & TII-A3F wigHI wEHT fes fad fagr 92
(A) §F faTr (B) wuTet (C) »HI (D) wfEg

5. IJ9 3 fHaa & ot fonr?
(A) fd@hr (B) fd®& (C) 3HsT (D) It

6. wigg fom v vE® 836 37
(A) Wt r (B) fHad =7 (C) BTge (D) 3IgEE =T

7.  fuaw »igAg B <t g6t 3 d< 39w I?
(A) HI (B) <3 (C) =I=9 &d (D) gfows

8. o ‘fugar wigg™ <t §&t faadt 32

(A) Wt (B) U&JSt (C) ws=Et (D) y»irdt
yg JE "ol yms @ §39 fad - 1x5=5
1. ' ot fiIT ddt €73 Ju=T wue 3ud & fan Bt =9famr I7

(A) 83T (B) I (C) 9 (D) gt

2. BYIYE T I IT US I J of HITT I?
(A) ¥ dar adt /W, 87 fad w=ar (B)  ye Gn<t ure T &4 At
(C) i U™ T AT wdr (D) HAHS I, i3 A3 Ut
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3. 4d, I T W A< 3 UfgST g fan™ 1?2

(A) ferg 3 (B) WIATT AH
(C) fow3eg ¥ Wg »fehH '3 (D) WS
4. ‘U T forre qoret feuet doret &9 Iar-get © 196 99 757
(A) € Y3, g dt (B) < Ui, feg U3
©€) fegys, feg dt (D) fEa ¥3
5. 9T ©ufdT qIEl g9t 9 It I 3 fagzT a99 Haret 37
(A) T foorg & g8 = (B) T&-TaT 9T T
(C) <t9y T9Hs JI5 =7 (D) sfow T fonrs Ju =
IV. Y& ¢ Al yua' ¢ §39 fad - 1x5=5
1. It 9 iy oo Aufes ya3s AsHAE &% Heu3 faadt At 3973t uvs-yrss
IESACSERN,
(A) WY =t H (B) <€ y=w
(C) »Eg (D) f3a fifem fAg'3
2. FHE 3Ed § UIHSHT % faaaT g3ar fHignm?
(A) I YIHHT (B) UIIH YIHHJ
(C) YJIHHI (D) &fed
3. YIHHS © A AE-aed § fdE 8§ a7
(A) ¥I B (B) uJITH
(C) <few I (D) VUIH3HT € S99 &9
4. ‘HY T A Us T 34 AT I&?
(A) I3<3 Jrgaf (B) HSIH W&
(C) TIuuw fw 3=t (D) et dig i

5. #A< Ol & WIS IFE 13T G Tt < OHa fdat Hio

A) fedsa =g (B) W= = © "= (D) &9 =
V. Yz JE "t yws' & €39 8y - 1x5=5
1. SIudr <t fagae d< g9 I7
(A) HII3IT (B) =t (C) afe3dt (D) 89

2. ‘T T e faw &9 a9 § fadT AT I7
(A) ZazT (B) WAt C) I (D)
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VL. ¢
1

JAg ¥ HBR 439 5% Y3 faag 8 579 I7
(A) FHt (B) ¥Hd (C) Ha=Et farar (D) B3t
"TET-HIST fad g HaTemT AtET J7
(A) »dwyd Afag (B) €IF (C) HIIHI (D) 3¥3YI"
faggr 3699 9=-397 © g = YT I7
(A) BJ3t (B) i (C) Just (D) <=3t
g JT At yms € 39 8y -
. Jrgngs i &t fagdt g9 3Tt us-yrss fe9 @99 37
(A) FIH3 (B) 3W Je39 faBuraa
(C) et wehy Ht (D) »Hg
IH »YET AHS far 9 um fagm /2
(A) Y3 f9 (B) &3 f9 (C) sz T safdw (D) <Hifes
IH § Higg we fdaT AT J famr /2
(A) fis Hdts B) fds=q (C) 99 W& (D) 99
garet © Wy fI9 "gasHer § Ut fpre & Aer fans #1312
(A) Hisd' 5 (B) ST wdEhT A S
(C) AT & (D) WEsd B &
Jen < g7 g »i33 o &3 gt Hi?

(A) g4 (B) U3t (C) HF (D) nfest

VIL. ¥& J¢ At yma' & €39 88 -

1.

B339 ¥ 99 g fawg fag fapur 92

(A) 99 (B) grfsar fonast
(C) HiStrr (D) H'J THIHI
e 78 3 Ufgst fan gy &9 Je &g mret?

(A) TSI mHEg (B) JW&T wiHEd
(C) Jde (D) Je3==T »iyEg

Jrret viyegTg Je Je &9 wmet?
(A) W5 1804 'S (B) W& 1867 'S
(C) H& 1865 'Y (D) w& 1805 'S

1x5=5

1x5=5
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4. YIT T WA 3 HH3T HUS fang Hienm der 97

(A) »ygg (B) YHII (C) femf3ggg=t (D) IS
5. ‘Y93 &S BT ffg Tor Jer 9 1’ fen T § High 3 darst vighm us
WEHG YJ' IJ |
(A)  ueaET (B) fanrs (C) faH=<t (D) (3
VIIL Y& J1¢ "t yma' & €39 88 - 1x7=7

1. 4 4SS 3 g7 € 8 g9 Aredrdt fa< IHS I9 Hae I77 “nigee I8 w3 fefammus”
YS9 '3 I
(A) B St g iy o (B) a=rfed a3 It
(C) SFwsafgad (D) fega f29 J=t &t

2. oA 3w 3 wigEw J13T AT J, BAG wigee-fefomrs &9 ot afde 87
(A) HIZ I (B) BIH gHT (C) fewr-=w3z (D) F=

3. nfed, BYd 3 fds IS 20 HIS3 S9er I7
(A) < Jet (B) f3& g=t (C) 9 I (D) 7 It

4. T ITE I I JUS TS § o I T&?

(A) HIISIT (B) =t (C) Bud (D) EFHDAT
5. HiZhr &t &g fan § fagr 7er 97

(A)  fefommus (B) S3u= ©) E3u=s (D) &9
6. fego &9 faoz F= w3 fom o= = Wit 97

(A) W3G dre (B) <I®if<ws (S ICEIL (D) W3IG Hist
7. fam an f39 fea It wee T wigg wisa st fe9 o3 famr Jer 9, 8ng & afde 987

(A) VGIHA dH (B) €JIH JH

(C) Quswr dH (D) few= 3w

a7

yg Je Adt yHa' ¥ §39 fod -
1. Y3 T ooy fan & g=et?

(A) A3 fitwr (B) #wAT3 fAw

(C) w3 friw (D) 7R3 ity
2. fegst &9 s wesr '3 wWurfas faast fesy 372

(A)  # wrfent § (B) Y et @

(C) " HIE3 (D) WS 3 J
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3.  fAsH wAd war = fag faar wanm 32
(A) yIdiET (B) d¥d9 (C) IJHWT (D) 3Ia39

4. W YW € 5728 '3 »ufa3 faadt fes 972
(A) ¥HT Ut (B) fimg (C) d=d (D) ¥939

5. foau 3g7 Shor fegut 378 At sy = feq 527 Jueg §g Jfenm?
(A) =udd (B) nae (C) uIfHa (D) ug=HT

6. a9 T fizT-nfge &9 a3 cuifems »8e wg Jfenm?
(A) 1975 3 (B) 1979 €

T 53-3 &3-33
(C) 1980 € 33-33 (D) 1950 € 33-33

7. IS HIF M3 T oz gy =U9 arger /2

(A) g8t (B) &t (C) gt (D) 24U
IX. Y& I »igHT Ig° yas’ fS9 J¢t g7 yHe' ¥ €39 20-25 wew' <9 f8y - 2x10=20
1. JETId MUS €Y § ISl a8 T ¥l Ad=T w7

2. 3J13 JISTH MEHAT YHSHT § df 92 3T A7 HaeT J7?

3. d<t Sidddts HIg & UAy’ JfegT fag Ay <t et aafem™ St fagr 372

4. ‘wEY US migAT ©F fd F¥d MIH F9&T faG” S9=T I7
5. fiHash 3 &t g= g7
6. ET fdgtut fame Siu Gt a57 g1 T & O |
7. faA "eH fia3T
Srw T ez Quaa I I’

Af3ag J, vifgag 3 1° - fegst Jfenzat 9 9=t 37, 7939 ot JfJ IT T&7?
8. o ymHT yfen| Z B g €879 ferrBe? fou IiwT d<, fang 3 a< afg fagr I7
9. TSI AT < faaSt 39T 3T Us-yA3x fog wan I  fog 99 fag fadt fear 37
10. At Stz ot 979 famt € & fod |
11. dJ131 936 3 ufgs™ Iy ooz wfaq &9 fang fser gder 37
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XI.

XII.

XIII.

12. Y99 fd6 B § YyIe3 39 A<l J7 99 © 39 fed39 995 A fam =" fanrs T 4gdt
JI?
13. =TI T g 98 996 3 Ufgs S8 of d9er J7?

U8 e migAd fds (3) yras' 9 < (2) ymat @ €39 40-45 mee &9 fod - 3x2=6
1. ‘Tfon 79 Jfe3T @ dudt g= oH |

2. W3 ufgeg dee <t yfgnr ot 372

3.  IHIIAT T HSTHA Yfgni=t g7 9997 d9?

Vg I »igHa Ud (5) yas I det fds (3) yms' € €39 70-80 wue' &9 fo¥ - 4x3=12

1. ‘off GAT W H

ECR:EECIG USSR E:|

I 'Y B3 € HS

fou &t FaeT A<

37 39 I3 = At 5

fa feg A9 f3ad 3 SFs=d 8 He

T H oS3 T ue

‘et o= oyt |

Qudaz Frfe-H3d™ <t yHaT-Afg3 fenrfimrm 339 |
2. gTEr wEEdT At fedtdit € U39 9 € U39 9396 99 |
3. ‘TSI ISt It ud ot IfaeT I I?

4. A w8 AH § fa< 293 ordler 47 TEIH-TES 97 I JH 936 T &t @R 9T
J7? ‘Ta3 &t I=9’ 34 € w9 '3 &4 |
5.  ‘HiEhm g9 Huy aeadt fef |

Iz fou fefimrt f39 fan fea fer €73 125-150 waet 39 3y foy - 6x1=6
H&HTS 71 #13
ru
o <t Hes
Js fou fefimt 25 fan foa fem €3 U39 fob - 6x1=6

N =

et 9T § CUET T HJ3< TAC JE-

foerfes fob fa BT ogat &t ugt € a8-&% CUET T wfgn™H Jad 991 I8+ I oug <t
fanrdt St a9 |
e
AeHY fegmar © AeHE wiftardt § U39 fou 3 3973 fesra &9 §F Sa-»y Gy Sarfe et fas-
Y339 fou |
-00o0-
EFEE
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